Geometry, Final Review 2014
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A building stands on level ground. At a point M on the
ground, the angle of elevation to the second floor
windowsill, which is 20" above the ground, is 40°.
From point M, the angle of elevation to the top of the
building is 70°. Find the height of the building.
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2. Find the area of the regular octagon to the rlght
SHOW YOUR STEPS!
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3. The diameter of a wheel on Derrick’s car is 28 inches.

::ELE

a. How far along the ground does the wheel travel after one complete rotation?’
Draw a diagram and show your work. Ljé'
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If the wheel rolls 140n inches, how many rotations did it compleie? Show
your Work
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d.

Four lines intersect as shown in the figure at right.
If z=40° what is the value of x + 7
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For each diagram below, solve for the variable(s).
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6. Consider the two triangles shown at right.

a. Are the triangles similar? Explain
completely.

geﬁ ~ by Ak

alculate the perimeter of ATES.
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C. Aaron was trying to find the perimeter of AANE, but

thought it was not possible since two sides are

unknown. He decided to try something, and he wrote
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and he solved for . What did Aaron do? Will this work? Explain

completely.
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7. Calculate the volume and surface area of each figure shown below,

a - b.
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8. Multiple Choice: Given M(-2, 3) is the midpoint of AB where A(5, —1) then the coordinates
of B are: -
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9. . Find the perimeter of the triangle.
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10. 7 . TFind the area of this figure. Show your dissections -}l 2 e
and any sub problems you use. 41_
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11. Find the area and perimeter of the triangle
formed by the points A(-1, 4) B(3, -2),
(0, 2)
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12. Find the following ratios for two similar figures.

a. If the side ratio is 5: 13 then the area rat1o 15 Z 5 % u Qq ) 5% .13 <
Bl a o Bih-
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13. Mrs. Herlihy has discovered her green thumb! She is going to plant a pentagonal garden in

her backyard. Each side length of her garden will be 8 feet. She is going to purchase compost to
help fertilize her garden. How much area does she have to cover with compost?
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@ rectangle has a length that 15/5 more than the width, If the area is 200 em?, what is the
gngth of the diagonal? L
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15. What percentage of secior ABC TS shaded? Justify your answer
completely.
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16. Find the area of the shape at right.
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17. Calculate the total surface area and volume of this
figure. Show all sub problems.
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18. Find the perimeter of the triangle.
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19. Multiple Choice: The area of the trapezoid shown to the right is found b{yﬂ'_
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20. The line to the right goes through the point (6,'y). _
If the angle the graph makes with the x-axis 1s
22°, what is the y-coordinate of the point?
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21. Find the measure of angle a in the diagram below.
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22. A cone and cylinder both have a base radius of r and a height of 2r. A sphere has a radius of
r. Compare the volumes of all three solids. What do you notice? Be clear. ‘
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23. Calculate the volume of the right rectangular pyramid at right.
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